
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

  GMP/APR16/1 

AUSSIE spares diagram & parts list 

All prices exclude GST 

AUSSIE GMP PUMPS:  B3xr-A/ST FOR CYLINDRICAL 1” SHAFT  WITH KEY MOTORS 
cat AA9r (SuperSedes AAR8)  

CAT  Qty Description Position List Price 

9688 1 COMPLETE PUMP CASING B3XR-A/ST  1 $2,590 

5441 1 FLEX. GASKET 0,2mm  2 $12 

F685  1 FLEXOLITE GASKET 0.5mm 2 $12 

F157  1 INOX NUT M12x1,5  3 $14 

H677  1 WASHER D.15,5x34x4 stainless steel AISI 316  4 $40 

L605  1 IMPELLER B3XR-A/ST SUITS 1.2” STUB SHAFT 5 $438 

F981  6 OEB SCREW M 8x85  6 $2 

7726 6 COOPER WASHER 8x12x1,5  7 $2 

H828  1 COUNTERFACE 34-57-10 silicon carbide/Nbr  8 $365 

F976  1 MECH.SEAL 32-54-15 silicon carbide  9 $377 

L604  1 FLANGE SEAL HOLDER  10 $464 

6243 4 SCREW T.E. M 12x25 11 $6 

L555  1 ENGINE FLANGE  12 $555 

H707  4 SCREW 3/8-16 UNC " 13 $10 

5019 4 WASHER D.10x18x1  14 $2 

L554  1 FLANGE HONDA-YANMAR  15 $257 

L560 1 KEY B 6x6x25 AISI 316 16 $19 

H356  1 EXTENSHION SHAFT HONDA GX620 cyl.shaft 1type Q " 17 $799 

6255 2 O.E.B. SCREW M 8x25  18 $1 

L444  1 PACKING     

NOTE:  
This CAT model uses a stub shaft …  
check your pump is same otherwise refer to breakdown  
AA6A for a Honda engine mounted pump or  
AACO for a Yanmar engine mounted pump 

SUPERSEDED MODEL 


